Gq

2 L 1 DEGREE MAX.
NUT— 2 | THREADED ROD NOTE: NO SPLICE IN TOP PLATE IS PERMITTED " PER FLOOR SEE TABLE
WAI‘DSLI-'?EIE \ E WITHIN 8" OF ATS ROD N N N N BELOW ANCHOR BOLT LAYOUT
SEARING N = T / Y POST SIZE “a" W/ 6" SPACING "a" W/ 9" SPACING
2 L — TAKE-UP DEVICE » BETWEEN STUDS BETWEEN STUDS
PLATE —~ g 1/4” RECOMMENDED TAKE=UP DEVICE A IR QAT PLUMB OF ANCHOR — T/ =
Sial (FLUSH MIN.) TAKE—-UP_DEVICE BELOW
,— SOLID BLOCKING l ASSEMBLY 3x4 or 3x6 51/2" 7
) _—BEARING PLATE N 2-2x4 or 2-2x6 6" 71/2"
Il
T 2-3x4 or 2-3x6 8" 9 1/2"
I \\\ TOP PLATES " 4xs - 6 sx 8 1/2" 10/"
N— . n COUPLER— X0 or X
— BOLT HOLE: OVERSIZED 1/4" MAX - © DECREE 1AX P 10 1/4 1 3/4
MagEL THREADED ROD | W (IN) | L (IN) COMPI(-:IﬁA'HON ROD TAKE-UP_ DEVICE~__| PER FLOOR SEE TABLE 6x8 10 1/2° 12"
: SIZE (IN) ASSFMBLY BELOW 4x10 12 1/4" 13 3/4"
ATUDS 5/8 13/8 | 17/8 3/4 0P LEVEL COMPRESSION MEMBERS ' 6x10 12 1/2" 1
ATUDG-2 3/4 15/4 |31/8 2 H 1. COMPRESSION MEMBERS DO NOT INCLUDE TRIMMERS.
ATUD9 11/8 21/8 |2 1/4 1 l. 2. LOCATE ANCHOR BOLT W/ NARROWEST COMPRESSION MEMBER.
s —y 21/6 [21/4 ] 3. WHEN SHEARWALLS MEET IN A CORNER AND SHARE A COMMON CORNER POST, THE POST
ROD —— ¢ AT PLUMB OF ANCHOR SHALL BE THE LARGER OF THAT SPECIFIED FOR EACH INDIVIDUAL SHEARWALL.
ATUD9—2 11/8 21/8 [37/8 2 COUPLER ] BELOW
TUD10 11/4 23/8 |21/ 1 NUT 1 | 47 COMPRESSION MEMBERS NOTE: "g"
ATUD14 134 |27/8 [21/4 3/4 7 A 1 DEGREE MAXIMUM OFFSET OF SEE ELEVATIONS (TYF)
RTUD3 3/8 17/8 | 15/16 NO LIMIT e TAKE-UP DEVICE THE ROD IS PERMITTED AT EACH " COMPRESSION 7
RTUD4 1/2 17/8 [15/16 | No LMT L LEVEL COUPLER—~{_| MEMBER
NOTES e BEARING PLATE ALLOWABLE HORIZONTAL OFFSET ANCHOR BOLT AS .
1. CODE APPROVALS: ICC—ES ESR 2320; LA RR25643 _ SOLID BLOCKING CONTINUOUS 4’375(32%?&0“) %Fsgr y SPECIFIED COMPRESSION | .
BETWEEN OUTSIDE EDGES OF 0" 1 e + 7 4 MEMBER
WIDEST POSTS ABOVE OR BELOW — — LR
W | (TYP) 9'-0 1.875 T Ay CORNER MID—-WALL PERPENDICULAR TO WALL
(:g o T T NOTE: ALTERNATE BLOCKING LA
| ALLOWED W/ SOLID BLOCKING
S| EQUAING FULL WIDTH OF WDEST | 10 ALLOWABLE ROD OFFSET 15 ANCHOR BOLT LAYOUT
1. PLACE TAKE-UP DEVICE OVER ROD FROM LEVEL BELOW ONTO APPROPRIATE ON EA SIDE OF ROD W/ 3" MAX o
BEARING PLATE.
2. INSTALL PLATE WASHER ON TOP OF TUD OR ATUD, AND SECURE THE NUT ON 2 SPACING BETWEEN BLOCKING NAIL TO EA STUD W/ — W— D*0% ATS—ABorha
TOP BY FINGER TIGHTENING PLUS AN ADDITIONAL 1/2 TO 1/3 TURN WITH 7 I\ SPECIFIED EDGE NAILING BY : ’ | AT RHOR J T
WRENCH. = \ ETER
3, REWOVE ACTVATON P -BEAN "STUDS BUT NOT TO EXCEED éxzzzf " O BOLT = MO e
SEE SO.1 FOR NOTES INSTALLATION_(RTUD) \—BOLT HOLE: OVERSIZED 1/4" MAX 12" 0/C an | [ >= Units in 1/8" Increments _
. 1. RTUD MUST BE INSTALLED ON TOP OF BPRTUD BEARING PLATE AND FASTENED SEE _ \., (Ex: 9 =9/80R 1 1/8
THROUGH THE BEARING PLATE TO WOOD PLATES WITH (2)8dX 1 % MIN NAILS ELEVATIONS (2 TABLES)
OR (2) #9X1 % STRONG-DRIVE® SD SCREWS 1 COMPRESSION MEMBERS ON% | L
1| GENERAL NOTES AND CONDITIONS OF USE 4| TAKE UP DEVICE (TUD) FLOOR LEVE] EACH SIDE OF ROD EE R MODEL | ROD DIA [ \yrs [WASHER SIZE OR COMPONENT
COMPRESSION MEMBERS ) al . w2 D
THREADED COMPENSATION ,/ 11| SHEARWALL EDGE NAILING @ BUILT UP POSTS QI;;AM 1/2 | ATS-N4 [ 0.250 (1.25 |1.25 | 0.562
MODEL NO. | ROD SIZE (N) | w (N) | L (N) (IN) MODEL NO. RO?IN?IA. WASH(Frf) 0.D. A ROD ATS—ADS s/8 | ATSN5 | 0.375 |1.50 |1.50 | 0.008
1_ " ATS—-CTUD55 5/8-5/8 17/8 5 — COUPLER SEE ELEVATIONS PAB5 ' : : '
| ATS—CTUD65 3/4-5/8 2 5 1/2 ATS-INSKT | 5/8 /_ ATS—AB6 3/4 | ATS-N6
] D ATS—CTUD66 3/4-3/4 2 51/2 ATS—INEKT |  3/4 6" PROJECTION- i 2x STD as / e
ACTIVATION ATS—CTUD75 7/8-5/8 2 51/2 /] | ATS—AB7 7/8 | ATs—N7 | 0.375 |2.25 [2.25 | 0.938
PIN- ; ATS-IN7KT | 7/8 31/8 RECOMMENDED | A7
ATSCTUD76 | 7/8-3/4 2 | 51/ ANCHOR FOR TENSION ONLY ROD —| 7 / USE SIMPSON SSP IF POSITIVE ATS—ABS
ATS—-CTUD77 7/8-1/8 2 51/2 ATS—INBKT 1 OVERSIZE HOLE TO AVOID 1 ATS—-N8 [ 0.375 | 2.50 | 2.50 | 1.062
ATS—CTUDB7 17/8 | 21/z | 61/8 ISOLATOR NUT ATS-INOKT | 1 1/8 CONTACT WITH SILL PLATE T~ O T O O A ) SOLE ATS—75
- PLATE IS NOT AVAILABLE - _
WITNESS_. T CTUDEs ! 2 o1 B ABS 11/8 |ATs-N9 [0.375 |2.75 [2.75 | 1.188
HOLES ATs-CcTuog7 | 11/8-7/8 | 21/2 | 61/8 —SILL PLATE ) . TAKE—UP DEVICE ASSEMBLY ArSToB10 | 11/4 |ATS—N10| 0.500 |3.00 |3.00 [ 1.312
EA SIDE ATSCIUDS8 | 1 1/8-1 | 21/2 | ©1/8 . y L7 BEARING PLATE
oF CTU ATS—CTUDe9 | 1 1/8-1 /8 | 21/2 | 61/8 | ISOLATOR NUT AT NECR N == FOUNDATION AND REINFORCING BY . > A58 NOIES
i ANY LEVEL ABOVE <4 4~ . -.=- DESIGNER i
INSTALLATION CTUD R Rk 1. ATS ANCHOR BOLTS AVAILABLE IN 5/8" THRU
1. THREAD THE CTUD ONTO THE THREADED ROD BELOW, POSITIONING IT WITH ACTIVATION NSTALL 48:3” . / 11/4° DIA IN STANDARD AND HIGH, STRENGTH.
d 2 %TRE%: IrT‘l(-iEollachﬁ) ABOVE INTO THE CTUD. RODS ARE INSTALLED CORRECTLY WHEN SCREW ISPROVI#DED ﬁ\ A ~L ANCHOR BOLT AS SPECIFIED e SOLE PLATE § &"ﬁé‘%@ i?,k}mﬂfﬁ &N%EENS!:I 52,’-"?,,'3"52;
VISIBLE THROUGH THE WITNESS HOLES. DO NOT REMOVE ACTIVATION PIN UNTIL THE THROUGH ISOLATOR | ——— BEARING PLATE . ' P AT T '
CID 5 SERORE ROD AY LEVEL ABOVE WIT BEARING PLATE AND ISOLATOR NUT.  ATTACH PLATE  INTO - WOOD
) ISOLATOR NUT TO SOLE PLATE WITH PROVIDED SCREW. ) PLATE ; FOUNDATION 1 2 OPT'ONAL SSP WH EN STU D |S OVER PI_ATE 1 6 ANCHOR BO I_TS
4. REMOVE ACTIVATION PIN AFTER LEVEL ABOVE IS SECURED WITH ISOLATOR NUT. - / -
S. THE CTUD MAY BE INSTALLED IN EITHER DIRECTION. WHERE REQUIRED CUT ROD TO PROVIDE
MINIMUM OF 2 %" CLEARANCE BETWEEN TOP
OF ROD AND BOTTOM OF ROOF DECK MODEL  |ANCHOR BOLT
2| COUPLING TAKE UP DEVICE (CTUD) 5 ISOLATOR NUT DETAIL 7 | INSTALLATION DETAILS No. |  DIAMETER
SEE DETALL 4 FOR FASTENING ABLA~1 1/
ATS PLATE DIMENSIONS | COMPATIBLE \f\ — INFORMATION OF RTUD TO PLATES ABL51 5/8°
ROD DIA. | FULL THREAD |STRONG-ROD MODEL ] L t Dhole | DEVICE - POSTS/STUDS ABL6-1 3/4"
IN. MODEL NO. | MODEL NO. N | N | N | (N | SERES 2 '] PER T — — B0 7
1/2 R4/ATR) - SMOOTH SHANK ATS-BP5-3x35 | 3 | 3% | % | e STRAPS g ¢ DESIGNER N _ LN K - ABLB—1 "
5/8 RS,/ATRg - = 12— | 48 i ATS-BP5-355 | 3 |5k | % | e ' . * §H\\ §H\\ ABLO—1 11/8
3/4 R6/ATRY - ? ATS-BP5-5x5.5 5 | 5% % % 1 : : 1 ~—TAKE-UP DEVICE ABL10-1 11/4"
7/8 R7/ATRE - UNG THREADS e S R0 7 123408 | AS-BP6-355 | 3 | 5% | % | e CUT LENGTH < | [k i }] | < ASSEMBLY ~ N\ ROD PER e
TR STRONG-ROD xS s e 2. MODELS WITH OST NUTS AVAILABLE FOR USE WITH HDG RODS.
- ATS-BP7-3x5.5 3 (5% | % | % i 3. ATTACH ABL TO FRAMEWORK WITH (2) MIN NAILS OR SCREWS.
11/4 _ ' | T E — 4, ATTACH THE UPPER NUT AND PLATE WASHER TO THREADED ROD.
/4 | R10/ATR1 § L ATS-BP7-5x55 | 5 (5% | % | " L 13| TAKE=UP DEVICE INSTALLATION AT TOP LEVEL 5. THREAD THE ROD INTO THE ABL UNTIL IT BOTTOMS OUT ON THE PLATE WASHER AND IS FULLY ENGAGED
1.3/8 R11 - A #1.75 y WITH BOTTOM NUT
= /_ ATS-BPB-355 | 3 | 5% | % | 1K g '
78 T — T T | e Ty x5 1o L "HBATONS : ANCHOR BOLT LOCATOR
13/4 R14 - ELEVATIONS
ATS—BP9-3x5.5 3 | 5% % 1 % CTUD 17
2 R16 _ 4 /8-7 Amm STRONG_ROD = 123456 | 2 TYP - 1. VERTICAL STRAPS ARE SOLD SEPARATELY, UNO. FULL HElcml _i._/— DO NOT NAIL
ATS-BP9-5x5.5 5 [ 5% | % [1% 2. WHEN STRAPS OCCUR, REFER TO THE STRUCTURAL DRAWINGS AND STUDS EA SIDE "t - HEADER EXCEPT
HSRS SR5H UNC THREADS INSTALLATION DETALLS. ATS PLATE DIMENSIONS POMPATIBLE]
5/8 STRONG—ROD XL I =l TOE NAIL TO cupFTe
ATS-BP10-3x55 | 3 |5k | % 1 s 3. REFER TO THE APPLICABLE CODE FOR MINIMUM NAIL EDGE AND END W/ EDGE NAILING n n CRIPPLE STUDS MODEL AP
’ DESIGNER— ! AS-3a5 :
7/8 HoR7 SR7H ATS-BP10-3x9 3 9 1 1 % » N RLS-3X5.5 3[5K [ % | %
: SR8 SReH 8| ALT. STRAP TRANSITION 1/4" MN 1/4" MIN 527 MIN HEIGHT — = NALS PER esos |3 [3A | % | %
11/8 HSRY SR9H ASBPIO32 |5 | 12 | 1% 1% ’]’Tr\f I \ ELEVATIONS PLs-3¥55 s (58 | % | %
11/4 HSR10 SR10H 22_2:2_::5 : 195 11% : :° c AGESTEEI'S — o ® BESEL#E_\: i i 22}1%'{%%%03 mm—mm.s : 32 ’z: ::: ¢
13/8 HSR11 - pS—— - > - 1 ; MODEL (Iﬁ) (I:) (":/) COMPONENTS /~ROD o 1 EEQCE“L(I;EV | "“-.-i_ [T PLI4-3XB.5 3 (x| % [19%
11 /2 HSR12 - STRO';(I;-—ROD ROD D|A.3 A L COLOR X 6 SEE ° ] L PL9-3X12 3 12 1% 1%
13/4 | HSRI4 - MODEL NO. IN. CODE BPRTUD3-4 3 3 | % | % [ ruw ATS-1/2-28 6| 3 7V <ELev o “TT4* wN END DIST g sz : [ :z :':o ATUD/T0D
2 HSR16 - SROH/14-5 |1 3/4-1 1/8 6" |6-0" ATS-1/2-2C 16 3 ﬁ/ | I PL10-3X15 3 [ 15 [ 1% 19:. EEEIEDULE ¢
11/8 | HSSROHI50 | SROH150 SROH/14-7 | 1 3/4=1 1/8 |2 1/2" | 7'-5" | ORANGE / { o1/2-2 - N < BRIDGE BLOCK INSTALLATION DETAILS PLI+-XT5 s | 15 [ 1% 1% R
1 1/4 | HSSR10H150 | SR10H150 SROH150/14-7 [ 1 3/4-1 1/8 [2 1/2" |7-5" — e 1 Y \_3 BRIDGE BLOCK NOTES e - :; : 1';‘.
. -1/2- 1. CRIPPLE STUDS SHALL BE 2X MEMBERS ONLY AND BE FIELD NAILED.
NOTES \ D TE%LESP;(E;Q'SRPER 2. CRIPPLE STUDS SHALL BE NAILED TO FULL HEIGHT STUDS PER ELEVATION DRAWINGS AND DETAILS ABOVE. IF PLIO-5XB.5 5 |8% | % |1%
1. FULLY THREADED AND STRONG-ROD IS UNCOATED OR PLAIN BLACK STEEL. (2) CRIPPLE STUDS ARE REQUIRED ON EACH SIDE OF ROD, NAIL CRIPPLE ADJACENT TO FULL HEIGHT STUD PLI—5B5 5 (8% | % [1%
2. STRONG-ROD MODEL DESIGNATION: THE NUMBER FOLLOWING ATS-SR(#) REPRESENTS THE ROD DIAMETER IN 1/8" (ie. PER oy ]2 WITH SCHEDULED NAILS AND NAIL INNER CRIPPLE WITH % OF THE SCHEDULED NAILS. PLo-5K12 5 | 12 | 1% | 1%
ATS—SRSH IS A 5/8" DIAMETER HIGH STRENGTH ROD). SCHEDULE ﬂm 3. CRIPPLE_STUDS MAY BE NAILED TO FULL HEIGHT STUDS FROM EITHER SIDE. rr ey s 2 Tn T
3. STRONG-ROD XL ARE 1 3/4” DIA WITH 1 1/8" THREADED ENDS AND ARE USED TO REDUCE ELONGATION. \f\ g- ::o lg SggAg(E:I;Ew g%gNgAv%N'rr[«cﬁungmggoﬁ 'é%%'&‘ﬂé‘ 1#'; GRADE. SCL IS ALSO ACCEPTABLE. p——— 515 | % | % | aw

3

ROD

6 | BEARING PLATES FOR CTUD

9| WELDABLE CAGES

14| ALT. BRIDGE BLOCK DETAIL

18| BEARING PLATES FOR ATUD/TUD AND

W.G
PM

WGPM, Inc.

Wright - Gibson - Paiton

STRUCTURAL ENGINEERING

11220 EIm Lane, Suite 201

Charlotte, North Carolina 28277
704-542-7199 Fax; 704-542-7195

WWW.wgpminc.com
JOB NUMBER: 128-14

MRS

MISHRA
ARCHITECTURE ~ PLLC

6800 S Creek Rd, Charlotte, NC 28277
Ph: (704) 625-6554 Fax: (704) 919-5822
EMAIL:ashish@mishraarch.com
WEB: www.mishraarch.com

CIVIL:

Benchmark Engineering and Surveying
101 Highpointe Court, Suite B
Brandon, MS 39042

Phone: (601) 591-1077

Fax: (601) 591-0177
Email:mikebes@bellsouth.net

STRUCTURAL:

WGPM, Inc.

11220 EIm Lane, Suite 201
Charlotte, NC 28277

Phone: (704) 542-7199

Fax: (704) 542-7195

Email: lwright@wgpminc.com

MEP:

Allied Consulting Engineers

2905-D Queen City Drive

Charlotte, NC 28208

Phone: (704) 399-3943

Email: asoler@allied-engineers.com

REVISIONS
Date Description

No.

Information contained on this drawing and
in all digital files associated is authorized for
use on the project named herein only and

is the property of MISHRA
ARCHITECTURE PLLC and may not be
reproduced in any manner without express
written or verbal permission from
authorized individuals. Original drawing is
24"x36" and scales are as indicated.© 2013
MISHRA ARCHITECTURE PLLC

KEY PLAN

Shiva Southaven
Inc.

Holiday Inn Express
& Suites

Lot 16 (Rev Lot 3) Southcrest
Pkwy.

Southcrest Subdivision
Southaven, MS 38671

Drawing Title

Simpson ATS Details

Phase
Construction Documents

Project No. Sheet No.

14-081
Prepared by AEB S601
Checked by HLW
Date  Fep. 27, 2015
Review

Holiday Inn Express & Suites



